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Exercise 14 1

1. Give some examples of data that you can collect

from your day to day life.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_o0toePK540oo
https://dl.doubtnut.com/l/_CefL6gGdCoXz

2. Classify the data in Above as primary and secondary

data.

° Watch Video Solution

Exercise 14 2

1. The blood groups of 30 students of Class VIII are
recorded as follows: A, B, O, O, AB, O, A, O, B, A, O, B, A, O,
O, A, AB, O, A A, O, O, AB, B, A, O, B, A, B, O. Represent
this data in the form of a frequency distribution table.
Which is the most common, and which is the rarest,

blood group among these students?
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https://dl.doubtnut.com/l/_CefL6gGdCoXz
https://dl.doubtnut.com/l/_CvX1zbxCbCrv
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2. The distance (in km) of 40 engineers from their

residence to their place of work were found as follows:

5 3 10 20 25 11 13 7 12 31
19 10 12 17 18 11 32 17 16 2
7 9 7 8 3 5 12 15 18 3
12 14 2 9 6 15 15 7 6 12

(i) less than 7 km from her place of work?
(if) more than or equal to 7 km from her place of work?

(iii) within 3 km from her place of work?

° Watch Video Solution

3. The relative humidity (in %) of a certain city for a

month of 30 days was as follows :


https://dl.doubtnut.com/l/_CvX1zbxCbCrv
https://dl.doubtnut.com/l/_a1mAqr1Ux3z6
https://dl.doubtnut.com/l/_nMK61N1MMwYE

98.1 98060 99.2 903 86.5
953 929 963 94.2 95.1
892 923 971 935 927
95.1 972 933 952 973
96.2 92.1 849 2.2 957
983 973 961 921 8  |. \what is

the range of this data ?

o Watch Video Solution

4. The heights of 50 students, measured to the

nearest centimetres have been found to be as follows :


https://dl.doubtnut.com/l/_nMK61N1MMwYE
https://dl.doubtnut.com/l/_j5oYUdEkyBaO
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What

can you conclude about their heights from the table ?

° Watch Video Solution

5. A

study was

conducted

to find out the

concentration of sulphur dioxide in the air in parts per

million (ppm) of a certain city. The data obtained for

30 days is as follows :


https://dl.doubtnut.com/l/_j5oYUdEkyBaO
https://dl.doubtnut.com/l/_79InBnJ5JuMS

0.03 0.08 0.08 0.09 0.04 0.17
0.16 0.05 0.02 0.06 0.18 0.20
0.11 008 0.12 013 022 0.07
0.08 0.01 0.10 0.06 0.09 0.18
0.11 0.07 005 007 001 0.04 | ye .

grouped frequency distribution table for this data

with class intervals as 0.00 - 0.04, 0.04 -0.08 and so on.

° Watch Video Solution

6. Three coins were tossed 30 times
simultaneously.Each time thenumber of heads

occurring was noted down asfollows :


https://dl.doubtnut.com/l/_79InBnJ5JuMS
https://dl.doubtnut.com/l/_BSp5QH58gEg2

131122 0 121
300112 3 220 |pepare;

frequency distribution for the data given above

o Watch Video Solution

7. The value of m upto 50 decimal places is given
below:
3.14159265358979323846264338327950288419716939937510
(i) Make a frequency distribution of the digits from O

to 9 after the decimal point. (ii) What are the most and

the least frequently occurring digits?

o Watch Video Solution



https://dl.doubtnut.com/l/_BSp5QH58gEg2
https://dl.doubtnut.com/l/_E4rc2yw4m4xV
https://dl.doubtnut.com/l/_sFCPj5K2wtFV

8. Thirty children were asked about the number of
hours they watched TV programmes in the previous

week. The results were found as follows :

16235 11 5 48
103 4 122 8 15 1 17 6

328596 8 T W4 12| ..

frequency distribution table for this data, taking class

width 5 and one of the class interval as 5— 10

o Watch Video Solution

9. A company manufactures carbatteries of particular
type. The lives (in years) of 40 such batteries were

recorded as follows :


https://dl.doubtnut.com/l/_sFCPj5K2wtFV
https://dl.doubtnut.com/l/_XLeDvBN4xW3t

2.6
35
2.5
3.5
4.6

3.0
23
4.4
3.2
3.8

37" 3.2 X
3.2 34 38
34 33 29
39 32 32
3.2 26 35

4.1
32
3.0
3.1
4.2

3.5
4.6
43
= My s
2.9

4.5
3.7
2.8
3.4
3.6

Construct

a grouped frequency distribution table for this data,

using class intervals of size 0.5 starting from the

interval 2— 2.5.

° Watch Video Solution

Exercise 14 3

1. The following data on the number of girls to the

nearest ton per thousand boys in different sections of


https://dl.doubtnut.com/l/_XLeDvBN4xW3t
https://dl.doubtnut.com/l/_LFi8WFcGGR1L

the society is given below:

Section N‘iﬂmﬁiﬁf&r
Scheduled Caste (SC) 940
Scheduled Tribe (5T) 270 -~
Non SCIST - 920
Backward districts 950 ,
Non-backward distriets 920
Rural 930
Urban 910

(i) Represent the information above by a bar graph.
(i) Write two conclusions you can arrive at from the

graph, with justification.

° Watch Video Solution

Exercise 14 4



https://dl.doubtnut.com/l/_LFi8WFcGGR1L

1. The following number of goals were scored by a
team in a series of 10 matches : 2, 3,4,5,0, 1, 3, 3, 4, 3

Find mean, median and mode of these scores :

° Watch Video Solution

2. In a mathematics test given to 15 students, the
following marks (out of 100) are recorded : 41, 39, 48,
52, 46, 62, 54, 40, 96, 52, 98, 40, 42, 52, 60 Find the

mean, median and mode of this data.

o Watch Video Solution



https://dl.doubtnut.com/l/_qzNPTYGnhgfu
https://dl.doubtnut.com/l/_HI7X0DMa4YBm

3. The following observations have been arranged in
ascending order. If the median of the data is 63, find

the value of x. 29, 32, 48, 50, x, x + 2,72, 78, 84, 95

° Watch Video Solution

4. Find the mode of 14, 25, 14, 28, 18, 17, 18, 14, 23, 22, 14,

18.

° Watch Video Solution

5. Give one example of a situation in which the mean is

not an appropriate measure of central tendency but


https://dl.doubtnut.com/l/_XYy1OneSWlqy
https://dl.doubtnut.com/l/_lzt3vHML6b5h
https://dl.doubtnut.com/l/_8WfNRU93MLfB

the median is an appropriate measure of central

tendency.

o Watch Video Solution

6. Give one example of a situation in which the mean is
not an appropriate measure of central tendency but
the median is an appropriate measure of central

tendency.

° Watch Video Solution



https://dl.doubtnut.com/l/_8WfNRU93MLfB
https://dl.doubtnut.com/l/_JrQv4wvkyMgU

